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(1) log,3 (FMIEHTH 5

(2) MEHKZzIZHLT,
z7=7 © zIIERTHS

3) kRo#LXEFH=THINa, (n=0,1,2,-) D—fKIElLa,=2""1TH 5

Ay = 20y, Qg =2

BIEE0 — 2 ROFKEXDIH, ELVWHLDEALATEN (2770, x, v, z 13EHK)

M (x+y)2=x2+y? (8) sin(x +y) =sinx +siny
_ _ sin(x + y)

(2) |xy| = Ixllyl (9) tan(x+y) = cosGr 1 )
3) |x+y| = x|+ |yl (10) sin? (\/xz + 1) + cos? (\/xz + 1) =1
D Jx+y=vx+.y (11) 3**+Y =3* 4+ 37
(5)J/x2 =x (12) 3% =3%.3Y

Xy

=—+ P (13) logyo(x +y) = logiox +logyoy

I log, y
7 42 -
(7) ity y (14) log, y log, x
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(1) y=4x?—4x+2

(2y=vV2x-1
(3)y = —sin(5x)
(4) y =(0.5)"
(5) y =log, x*
6) y = 2/9 — x2

PIRE0 — 4 ROGIERZEZHEIT.
(Dx3=5x24+7x—2=0

(2) sin(mx?) = L

= (f:f:“b\ —ZSxSZ)

(3)2cos?x —3sinx—3=0

(4) (2**3 —V2)(2*-3)=0

(5) logs x +logs(x — 1) = Tog, 3

BIRE0 — 5 RDOTFREREIT.
(Dx3=5x24+7x—2>0
2)—x3+5x2—-9%x+6>0

(3)—%Scos(2x+%)£§

(7‘:7’:“[4\ OSxSn)

(4)sinx —cosx+1>0 (f:ffb\ OSXSZTL')

(5) 9* —=3*1 >0

(6) 210g10(2 — x) < logyo(x? — 2)



